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1. Kam nás

      
F

vede
 

ta-hle

    
cesta

  
za-kon-če-ná

   C   
obzorem,

       
cho-dí-me tu

Gmi 
jenom

    
sem-tam, 

 
ne-bo

    C 
někam 

 
pu-tu-jem?

      
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Kam

  
nás
   
F


vede

ta-hle

      
cesta k ob-zo-ru se

    C   
kroutící,

  
jsme tu

    
na

Gmi
ní


jenom

     
chodci ne-bo

     C
ta-ké

  
pout-ní-ci?

     
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Chodci

   B  
nebo

  
pout-ní-ci,

  
chodci

   F 
nebo

   
pout-ní-ci,

  
všichni
    C 

šlapem tuhle
     

cestu


k
     F 
 ob-zo - ru  se krou-tí-cí,

  
kdo 

 
chce
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

 
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

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




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   B 
pom-ník

    
za ži-va,

 
ať se

  F    
dob-ře  po-dí-vá,

  
kaž-dý
    C 

máme cestu
      

stejnou, co se
     F   

blá-tem krou-tí-vá...
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2. Kam to

    F 
nese

tahle

    
řeka bílou

     C 
pěnou

 
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a-le
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nebo

  
boha-tí,

 
chudí
    F 

nebo
  

boha-tí,
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hlavně
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ať 


na


 té-hle
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ces-tě
 

nik-do
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srd-ce
  

ne -ztra- tí...
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Chodci nebo poutníci?
 


